Intermediate Algebra (4) — 4.2-4.3 Review

Name
Unit 4 — Quadratic Functions

Classperiod 1 2 3 4 5

(1-2‘1 can translate quadratic equations from factored and vertex forms INTO standard form.
Level 1

Multiply

1. 8(7x-3)
8cix) g(-3)

[5C x—l?7
2. 4x(-2x2-9x+3)

W) dxay) yx(3)
E0 =3(xT ¢ 2x

3. (x+3)(x-11)
X(R) % (-) 3K 5-u)

A2~ +3¢-33 [ X =B« -33]
Write the following equations in standdrd form

4. y= (x-1)(5x+2)

X(s4) AV -1 (s¥%) -U{H)
Yesx?p2x -6X - \/__ S')La—”l)('l

5. y= (4x + 5)(4x-5)
N¢ -~ 5~

YA -26 x z 2 ' 7
5 [Tox |25 T= lon -5

6. y=(2x+9)2+5

A+
Y= (r+02ma) +5 Kl v
2 Y62 13k 1ol s { 1Yy H{}A
S4x* 3L ¢
7. y=7(X’:3be‘t88 Foflox | 8l (x-0)°
Y =7 (x-L)ex-t) 44 Y2742 - gax A ATLYE by
Y= 2(x 124430 4 g Fp@ 74*_s4p Laco) f s
=L >
8. y=2(x+5)2-6 ¢

122(M5)004 )~ ( \v= 232 4 20444y f B A

V22 oy yas)- g (@q‘

Y= 2y : - sl 2s
Level 2.3 T~ R*Fect LsfTr

9. Find the area of a rectangular garden with the dimensions (9r + 2) and (9r - 2)

A 81r2-36r-4 ( B. 81r2-4 C. 81r2+4 D. 81r2-36r+4

Ary 2

qr [adue 5ul_Ll
-2 %[
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Unit 4 — Quadratic Functions Classperiod 1 2 3 4 5§

Find the x intercepts of the following quadratic functions
10. y=(x-8)(x+13)
G (K-8 ) X+13)
_X-8=0 ¥ +\3=o

11.y=(2x-5)(x+9)

0 =(2t-5 )( *+a)

A - =0 Xt9T6
s

12. Write th?equation of a quadratic function that has x-intercepts at (-3, 0) and (4, 0).

)[’: -3 X:L/
Factored Form: ( Lt 3)[ K'—%J X?LQ o (-H=O

1T
Standard Form: )( - Y 'l D\

13. Write the equation of a quadratic function that has x-intercepts at (—4,0) and (—9,0)

| X=-¢ ;(:7
Factored Form: CX"\"'\,) (K{“O‘B X#L/:o K'/‘OITO
XCRY  xca) 400 Hea)
A> 9 KFURF3 L

2
vo X 134 +3L

Standard Form:




Intermediate Algebra (A) — 4.2-4.3 Review

Unit 4 — Quadratic Functions

Name

Classperiod 1 2 3 4 §

113 I can translate quadratic equations from standard form INTO factored form.

Factor Completely

1. 8x+24

Glre3)

2. 5x2-45x
Sx(*x-19)

3. x2-10x+25
(X ~S)(X-5)

4, x2+26x+169
(X +3 )X +3 )

5. 2x2+5x-12
(r =30+ 4)

6. 4x2-12x+9

(26 -3) 2x—3)

Write the equation in Factored (Intercept) form and identify the x-intercepts:

‘ 7. y=x2-36
= (x-L)Cx-0)
0= (R-0) (£-0)

X=k =0 X-6t=o0
X>¢  X=0
X-intercepts: )( :(('/ 0)

(¢ o

8. y=x%Z+5x-24

N=(X -3 WX+§)

O (k-2 K+8)
X—%20 X+¥=o0
X= 3 X=-%

X-intercepts: (’—;I V)-8 )

Write the equation in Factored (Intercept) form:

10. y = 36x%2 - 100

Y =4 u>-25)

Y= 4 (34 -S)3KES)
0=HC3R-5)CHHS

3*"5-‘:0 3#%5’:0
P & 2 (>-5
Cut I
S

%
X-intercepfs:

~ r
(%0§(a®

11. y=12x2+ 18x - 30
Y= ( (2% 43 5-5)
Y= b (% 45 XX} )

Q= ({2145 eV
PATKS 0 X ~(=o
=5

x=-%
X-intercepfs: ( f-’-;‘ 0) Ol “ )

9. y=2x2+19x+ 17
Y=(2 117 XK+ 1)
Q:C’lﬁ ;.i’\)(‘ X41) o
2y +il=0 Xt1=0
2 K

=4 (-u ~
X-intercepts: AlO) ('ll(y

\‘r/
i.\ ‘7

12. y=5x2+16x + 12 z‘:?ﬁ/

V= (5% 40X+ 2)
0 X(SX {0 ) (k42

Satze W20
e
)L:-‘l

X="%
Cg
X-intercepts: S‘,, O) (_’zl 0)

FoWR Y FAY fF B T DR Tt AT FREOF B M B 81 &

A A R TR TR ] SRR T
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Find the x intercepts of the equations

13. y=x2+5x-104 14. y=2x2+13x-45

1= (o) K- 9) Yz (-5~ X x+a)
::i’“ B)( ;‘g) &-(2h-5) (Kta)

150 ~P-o
X=-13 (=8 0=21-5"  Xt§7°
5=2 X:’Ci

X-(lixt?a'rcepts: &) ('7: 0)

X-intercepts: (’l 31 O) (8/ 0,)

15. Which of the following are x-intercepts for the equation: y = 2x2+9x — 5
Choose ALL that apply. 2
Vo 247 #gx - 5~

[ Ye(as ¥
(24 F (¢ 45 )
C. O‘:(D-)(-l)(u()
2X-| =0 X+<=0o
Jﬁ:{ K:'s‘

1
P

&~
16. The area of a rectangular box is given by the expression ia_cz — 2x = 16.
Find the missing side of the box. Recall: Area = length x width
7 3%x-8 (J&Q\)C{x—a)

(q\
4
>

17. Which of the following is a binomial factor of the expression 4x% —x —37?

a. 2x+3
b. 2x-3

d. 4x-3



